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Efficiency vs. Ampl
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Time offset vs Amplitude
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Time reolution vs Amplitude
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Efficiency vs. Phi
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Time variance versus Phi
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Amplitude fractional offset versusPhi




Amplitude variance versusPhi
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Efficiency vs. F

L B B L L B L B B
0.9 J(
08 " ﬂ H ﬁﬁw i
0.7
0.6
0.5
0.4
0.3
0.2

0.1

_|_
_|_
_|_
_|_
| e p— _
| | | | | | | |J:m:u-—f
Lot trrr e bbb LLL

O | 1 1 | | 1 1 | I 1 1 | | 1 1 | | 1 1 | | 1 1 | | 1 1 | | 1 1 | | 1 1 | | |
0 200 400 600 800 1000 1200 1400 1600 1800 2000




0.0008/—
0.0006—
0.0004= | L| [ [Ilih

0.0002{—

-0.0002— || “
0.0004F |||L]]
10.0006 -
10.0008F-

x10~




Time variance versus F
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Amplitude variance versusF
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Efficiency vs. Q

0.9
0.8

! "y :ﬂ*ﬂ i + ! Ayt i AT

0.7

0.6

0.4
0.3

0.2

|IIII|IIII|IIII|IIII|IIII|IIII|IIIﬁ4 |II

0.1

0.5F-

OIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

o
=
N
w
AN
o1
o
~
(00)
©
g MR



000000000000




Time variance versus Q
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Amplitude fractional offset versusQ
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Amplitude variance versusQ
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